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1. Which of the following command is used to install the Node.js express module?

npm install express
node install express
install express

None of the above

2. Which of the following extension is used to save the Node.js files?
Js
.node

Jjava

axt

3. Which of the following statement is used to execute the code of the sample. js file?

sample. js
node sample.js
nodejs sample.js

None of the above.



4. AngularJs is perfect for? *

SPAs
MPASs
DPAs

CPAs

5. Which of the following is the correct syntax for writing AngularJS expressions?
{(expression)
{{expression}}
{{{expression}}}

[expression]

22. Command to start Node Project

npm start

node start

23. AngularJsS uses one way data binding.

False

True

24. MongoDB supports

RDBMS

NosQL

24. MongoDB supports

RDBMS

NoSQL

10.




A collection in MongoDB is a group of

Databases
Schema
Related documents

Rows

11.
Command to show installed version of Node?
S npm --version
$ node --version
S npm getVersion
$ node getVersion
12.

For What npm stands ?
Node Project Manager
Node Package Manager
New Project Manager

New Package Manager

13.

Which of the following command will show all the modules installed locally.

Snpmls-g
S npm s
S nodeis-g

S node is

14.

All APIs of Node.JS are. *

Asynchronous
Synchronous
Both of the above.

None of the above.

15.



A function definition expression is known as

Function calls
Function definiation
Function calling

Function literal

16.

Javascript is which type of language *

Interpreted

Compiled

17.

Which of the following function of Array object removes the last element from an array and returns
that element?

push(
delete()
pop(

link()

18.

Which tag is used to write the javascript code
<script>
<sp>
<javascript>

<java>

19.

Which of the following is correct about TypeScript?

Angular is based on TypeScript.
This is a superset of JavaScript.
TypeScript is maintained by Microsoft.

All of the above.

20.

n



Which of the following is correct about TypeScript?

Angular is based on TypeScript.
This is a superset of JavaScript.
TypeScript is maintained by Microsoft.

All of the above.




